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If it is regarding Shabbos, we require the size of a dried fig

Overview

X217 queried what is the rule if one threw a n°1> of 7170 into a Xn“v n°2. The X3
asked if the question was concerning whether he transgressed the ox%% of
101277/7RX17 on N2w; what is the question? We know that to be 211 for 70127 one must
carry an item the size of a n7x173. Our NM1dOIN suggests other reasons why the query
cannot be regarding n2w31 70137,

mMooIn wonders:
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The X3 could have asked, if s'%27 question is regarding naw32 1701577 (exclusively),
why did X237 mention P97 (that he threw it), and why mention that it was 7190,

and why mention that he threw it into a 8»w% n°3? They seemingly have no bearing
regarding naw. Our NvoN does not explain why the X131 did not ask these questions.

Summary
There are many reasons why the query was not regarding naw exclusively.

Thinking it over
Is there any advantage in NM501n proof (that we are not discussing n2w) over the s'&773
proof?

!'If the query was regarding naw he should have asked, ‘what is the ruling if he carried a n°13 into a house’. There is a
(major) difference between the s'k 3 proof (that X271 is not discussing n2w) and Moo proof. The X mx asks why is
there a query; the answer is obvious; if it is not N30 he is Mwd. While nooIn question is (merely), why did 27
word it this way?
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